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QUESTION 1

What are carbon offsets?

A. Certificates that represent the payment for some activity that reduces greenhouse gas emissions.

B. Natural gases produced by rainforests which work against the formation of carbon dioxide (CO2).

C. Power generating installations based on natural sources of energy, such as solar panels and windmills.

Correct Answer: A

QUESTION 2

What does the Electronic Products Environmental Assessment Tool (EPEAT) do?

A. It aligns company policies to national legislation with regards to environmental waste reduction.
B. It rates IT products based on their compliance with the IEEE 1680 standard.

C. It submits a plan for replacing old computers with more efficient computers.

Correct Answer: B

QUESTION 3

You are a member of the team in charge of introducing Green IT into your company. Your first action will be to introduce
practices that can easily be applied to reduce computers\\' power consumption. Which practice would be the most
effective?

A. Put monitors off at night.

B. Turn down the brightness of the display.

C. Use one power strip for all your chargers.

Correct Answer: A

QUESTION 4

You work in a typical office building and the lights are always on. Using which lighting source could make the most
significant dent in energy use?

A. 30-Watt Fluorescent bulbs
B. 40-Watt Fluorescent bulbs

C. Incandescent bulbs
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Correct Answer: A

QUESTION 5

What is an acknowledged advantage of telecommuting?
A. It helps to reduce carbon emissions.

B. Remote meetings are more productive.

C. Work gets done more easily.

Correct Answer: A

QUESTION 6

What does the operational cost of a printer include?

A. Electrical consumption, ink consumption and service levels

B. Electrical consumption, paper consumption and ink consumption
C. Paper consumption and ink consumption

Correct Answer: A

QUESTION 7

Your company chooses to privilege the environmental drivers while introducing Green IT.What is an example of an

environmental driver?

A. Reducing energy costs

B. Reducing equipment costs
C. Reducing e-waste

Correct Answer: C

QUESTION 8

Which puts IT in an excellent position to contribute to a sustainable world?
A. IT is not a big consumer of electricity.

B. IT does not create a lot of waste.

C. IT can help other industries to work more efficiently.
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Correct Answer: C

QUESTION 9

Your department has been asked to reduce the use of paper and ink. What is one of the easiest ways to do so?
A. Introduce the concept of the paperless office

B. Printing two-sided documents

C. Switch paper suppliers

Correct Answer: B

QUESTION 10

Green IT has many obvious advantages but some of them are less tangible. What is an example of a less tangible but
real advantage of Green IT?

A. Cutting down on travel expenses
B. Enhanced employee attraction and retention
C. Reducing the costs of paper and ink.

Correct Answer: B
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